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# 16, condition |  LypxBXD x |t | FL | x T
tanker, full 201%28.2%14.6 |  0.0527 46.0 0.0437 ‘ 1.20 2.01
#  ballast { 0.0380 10.6 0.0495 0.768 0.524
tanker, full 181x25.4x13.5 | 0.0553 41.9 0.0484 J 1.15 2.01
tanker, full 167x22.0x12.2 . 0.0521 33.6 0.0488 | 1.07 1.64
freighter, full 145%19.5%12.2 ~ 0.0516 24.7 0.0514 | 1.00 1.27
7 light } 0.043 7.0
freighter, half 121x16.2 % | 0.0382 17.4 0.0424 [ 0.900 0.738
freighter, ballast 132%18.2%11.7 t 0.0570 8.22 0.0666 0.860 0.555
freighter, ballast | 114x16.4x9.3 |  0.0544 7.26 0.0735 | 0.74 0.53
i !

bulk-carrier, ballast | 152%20.6x12.7 |  0.043 9.99 0.0601 |  0.716 0.60
fish carrier, ballast | 67x10.8%5.7 0.075 5.7 0.086 | 0.8 0.49
whaler, approval 57%9.5%5.1 | 0.27 9.9 0.140 1.9 1.39
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